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// Test.h

class CTest{

private:
int m_atil;
int f1();
public:

float m_at2;
int f2();
CTest();

~CTest();

+s



// Test.cpp
#include "test.h"
CTest::CTest(){
m_atl = 0;
m_at2 = 0.0;
b

CTest::~CTest(){

// cout << "destructor call";

¥

int CTest: f1(){

return m_at1;

b
int CTest: f2()<{

return m_atl+(int)m_at2;
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// Test.cs

using System;
namespace NS

{

publicclass CTest

{
privateint m_at1l;
public float m_at2;

privateint f1()

{
return m_at1;
b
public int f2()
{
return m_atl+(int)m_at2;
b

public CTest()



m_atl = 0;
m_at2 = 0.0f;
b
~Test()
{

// Console.WriteLine ("destructor call");



